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Activity 2051. Implement Class & Methods Definitions

Type Class
Name Controller
Purpose ATMC| 7|52 AR 2D AMESH| R e

Overview(Class)

ANEAZE ATMO| R E Z2fAF MethodE AHRSE7| Qe 4t
OZ GUIZ FHEICE

Cross Reference R1.2,1.3

Exceptional Courses of Events | N/A

Type Class

Name Send

Purpose 537162 Fdst=s 2ax

Overview(Class) AR Aot SCHAC AZHEE 93 ot $38 St

Cross Reference R2.1,1.3

Exceptional Courses of Events | S8/FT2H0| ot=E HO{7tAHL THECD oW S77|5
= TASIA| =t

Type Class

Name Withdraw

Purpose =37ls

Overview(Class)

=52 TS

Cross Reference

Exceptional Courses of Events

HO|7tALL THHEC Bl $57|s

Type Class
Name Deposit
Purpose ga’lss =dsle 22

Overview(Class)

AERZE AZO| 2ad =0 tiet fas +AeCL

Cross Reference

R2.3

Exceptional Courses of Events

N/A




Type

Class

Name Check Remain

Purpose AR 7| 5E +HS= S

Overview(Class) AFERE| A Zto| THHME 2 F= 7|58 AT}

Cross Reference R2.4

Exceptional Courses of Events | N/A

Type Class

Name Payback

Purpose St A S MSote Saa

Overview(Class) AEXE AEtel MEISFE =25ty &gdEle] REE ZAEIt
1 = AERA e SES M-Sttt

Cross Reference R3.2

Exceptional Courses of Events | Ab&Xt2| 0|37t 2t R0 S{H (X Y2H J|sE +=H
SHX| et

Type Class

Name Commission

Purpose =25 MFols s

Overview(Class) 3/ 27 71s =¥ Al Eost =88 AlZtS S MEG,
of RISt o3t ik,

Cross Reference R14

Exceptional Courses of Events | N/A

Type Class

Name Statement

Purpose =51 #HHE A2 FA5= e

Overview(Class) TAZT[E Helet B A7t FrE =0 AUHES 2
IS5 E MSste IS ot

Cross Reference R3.1

Exceptional Courses of Events | A AT EHES US| S dR0e 7lsS A

Rl

g0 %
3
_|'_|_ -

of




Type Class

Name Bank

Purpose Aztel EHAE G2 Us 2L

Overview(Class) 2d82 0|8dt= 149 AxEEESS nda 2o EEE
B2 UACh

Cross Reference R1.1

Exceptional Courses of Events | N/A

Type Class

Name Account

Purpose AZPEEE B2 UAe S

Overview(Class)

Cross Reference N/A

Exceptional Courses of Events | N/A

Type Method

Name Get Account()
Purpose Aztel ofo|C|E YH

Overview(Class)

21245t = MethodCt.
AHEXLO| OFO|CIE U™ BH= MethodE 2|0O|HC}.

Cross Reference

N/A

Input(Method) Account_id (AHEAF| AHEH HE): Integer
Output(Method) Void

Abstract Operation(Method) -

Exceptional Courses of Events | N/A

Type Method

Name Check Password()

Purpose H 2}015l= MethodLt.

Overview(Class)

5015
ot H{ZE@HD oL Yot AZPEE siE = HEHZ QX

Cross Reference

Input(Method)

Password(H| 2 #2): Integer

Output(Method)

Boolean(H| 2 H=Z AX|O &)

Abstract Operation(Method)

Exceptional Courses of Events

HIZ2HS 7L LX|SHK| @S CHA| Input PasswordZ =OFZICEH.




Type Method

Name Get Answer()

Purpose F+T FYHOYME 21 T FHES HHS= Methodth

Overview(Class) AFEARE B0 AT EEHOIME 28 @O0 AxF =¥
TheokDt,

Cross Reference R3.1

Input(Method) Answer(Z & 2| AtO] £): String[Yes | No]

Output(Method) Boolean(E+35 =8 ZA7H)

Abstract Operation(Method) -

Exceptional Courses of Events | NoE 2t2 ™ Print Statement= T2 StX| &=Lt

Activity 2052. Implements Windows

cul Controlier
et AccountiAccoun

Send

¥ Send Interaction Diagram0f 23t Windows NameO| 25 L{ZE

Name Click Input Account ID

Responsibilities Azt OotO|T|E US| 2ot Ct.
Type GUI

Cross References N/A

Notes

'Input Account ID'2t= H

o

Pre-Conditions

ATM Z=7|ztH

Post-Conditions

ol

Account IDE T

rir




Name

Input Account ID

Responsibilities Azt oto|C|E & HtCt.
Type GUI
Cross References R1.1

Notes

AT AX A= SHHO| EAEC

Pre-Conditions

‘Input Account ID' HHEZ F+E2 &Ef

Post-Conditions

AZEE &3] Z Controllerd] HE X7

Name

Click Category Button

Responsibilities

Hejg 7150 HES 20t

Type

GUI

Cross References

N/A

Notes

2t Aaj7|50] Cfst BEO| BBi0| EA|EICH

Pre-Conditions

AZO| ool SE27F I E O U= SE

Post-Conditions

BankOl Al #2lo] SeiAE &8

Name

Input pw in pw space

Responsibilities

HZHSE BIC,

—

Type GUI

Cross References R1.2

Notes ot 2D =Xtz tHO| HEA|ECL
Pre-Conditions Hefg 7152 27 HEE Ues E
Post-Conditions HYUHS I} QH=X| 2ol

Name

Input Account ID

Responsibilities

Hehe A5

Type

GUI

Cross References

Notes

Pre-Conditions

Post-Conditions




Name Click Statement Answer

Responsibilities =T YoM HES FELL.

Type GUI

Cross References R3.1

Notes G35 S0 ofst v, NHEO| 20| HEA|ECH
Pre-Conditions BE Helfj7t E L]

Post-Conditions 2= E Boolean#tdl W2t F+=F =5 X g

Activity 2055. Write Unit Test Code

1. Controller

public class Controller {
Bank bank;
public static int User Account;
public static int Receiver_Account;
private static int Password;
private static String Category;
public static int Input Amount;

private static int
private
private
private
private
private
private
private
private
private

User 1id;
User_password;
User Limit;
User_Totalmoney;
User frequency;
Receiver id;
Receiver password;
Receiver Limit;

int
int
int
int
int

static
static
static
static
static
int
int

static
static
int
int

static
static

Receiver Totalmoney;
Receiver_frequency;

public static String Bank;
Scanner s=new Scanner(System.in);

A. Get Account ID

void get_Account() throws I0OException

1
System.out.println("input Account number");
this.lUser Account=s.nextInt();
Bank bank=new Bank(};
bank.Find_info(this.lUser Account);
Account account=new Account()};
this.lUser password=account.password();
this.lUser Totalmoney=account.remains();
this.lUser Limit=account.Limit();
this




B. Get Receiver Account ID

void get ReceiverAccount() throws IOException

{

System.out.println("input Reciewver Account number");
this.Receiver Account=s.nextInt()};

Bank bank=new Bank();
bank.Find_info(this.Receiver Account);

Account raccount=new Account();

this.Receiver password=raccount.password();
this.Receiver Totalmoney=raccount.remains()};
this.Receiver lLimit=raccount.Limit();

this.Receiver fregquency=raccount.frequency();

C. Check Password

boolean CheckPassword(int Password)

{

System.out.println(this.lUser password);
if(Password==this.User password)

1
return true;

1

else

{
System.out.println("password missmatchad ");
return false;

T

D. Input Password

void input_Password()

{

boolean check;

while(true)

{

System.out.println("input password");
this.Password=s.nextInt();
if((this.Password)>»>9999)

{
¥

System.out.println("input 4 digit plz");

check=CheckPassword(this.Password);
if(check==true)

{ System.out.println("password checked");
break;

B

else if(check==Ffalse)

k System.out.println("try again plz");

b

¥



E. Input Amount

void input_Amount()

{
int check=8;
while(true)
{
System.out.println(" input Amount");
Input_Amount=s.nextInt();
System.out.println(Input_Amount+"is it correct? press 1 to proceed");
check=s.nextInt();
if(check==1)
{

¥
)

break;

F.  Limit Amount

boolean Limit_Amount()

¢ if(Input_Amount>User Limit)
{
return false;
¥
else
{
return true;
¥
¥

G. Category

void category(String category) throws IOException
{
if(category.equals("send"))
{
boolean limitcheck;
Send send=new Send();

System.out.println(this.User Account);
System.out.println(this.lUser password);
System.out.println(this.User Totalmoney);
System.out.println(this.User Limit);
System.out.println(this.User freguency);
input_Password();

get_ReceiverAccount();

while(true)

input_Amount();

limitcheck=Limit_Amount();
if(limitcheck==Ffalse)

¢ System.out.println("your Limit is:"+User Limit+" check the value again");
ilse if(limitcheck==true)
{
System.out.println("proceed");break;
¥
¥

Bank bank=new Bank();
bank.update Account(this.User Account,sum,sum2};




J

int sum2=this.User frequency+1;
Bank bank=new Bank();
bank.update Account(this.User Account,sum,sum2);

bank.update_Account(Receiver Account,Receiver Totalmoney+Input_Amount,Receiver frequenc

Payback payback=new Payback();
payback.Check_Payback(User frequency);
PrintStatement p=new PrintStatement();
p.set_Amount(sum,this.Input Amount);
p.Get_Answer();

if(category.equals("withdraw"))
{
boolean limitcheck;
Withdraw withdraw=new Withdraw();

' n [
sysitem.out.princln(this.User Account);
System.out.println(this.User password);
System.out.println(this.User Totalmoney);
System.out.println(this.User Limit);
System.out.println(this.User fregquency);
input_Password();
while(true)

input_Amount(};
limitcheckelimit Amount();
if(limitcheck==Ffalse)

{
System.out.println("your Limit is:"+User limit+" check the value again"};
¥
else if(limitcheck==true)
1
System.out.println("proceed") ;break;
¥
¥

Bank bank=new Bank();
bank.update_Account(this.User Account,sum,sum2);
Payback payback=new Payback(};
payback.Check_Payback(User frequency);
PrintStatement p=new PrintStatement(};

if{category.equals("deposit™))

Deposit deposit=new Deposit();
input_Amount();

deposit.get Amount(this.Input Amount);
this.Input_Amount=deposit.send _Amcunt();

bank.update_Account(this.User_Account,this.User_Totalmoney+this.Input_Amount,this

Payback payback=new Payback();

payback.Check_Payback(User_frequency);

PrintStatement p=new PrintStatement();
p.set_Amount(this.User_Totalmoney+this.Input Amount,this.Input_Amount);
p.Get_Answer();

1

if{category.equals("check remain™})

CheckRemain checkremain=new CheckRemain();
checkremain.show_Amount(User_Totalmoney);

checkremain.Print_Total Amount();

Payback payback=new Payback();

payback.Check_Payback({User_frequency);

PrintStatement p=new PrintStatement();

p.set_Amount(this.User Totalmoney+this.Input Amount,this.Input_Amount);
p.Get_Answer();

.User_frequency+l,U_bank);



2. Send

public class Send {
Commission commission=new Commission();
public static int Amount;
public static int Receiver Account;

int get Amount(int amount){
int result;
this.Amount=amount;
result=send_Amount();
return result;

int send_Amount(){
commission.get Commission(Amount);
this.Amount=commission.get TotalAmount();
return this.Amount;

o0 = U0 & Wk = @00 = Wk e
-

3. Withdraw

public class Withdraw {
private static int Amount;

int get Amount(int amount){
int result;
this.Amount=amount;
result=send_Amount();
return result;

¥

int send_Amount()

!
Commission commission=new Commission();
commission.get_Commission{dmount);
this . Amount=commission.get TotalAmount();
return this.Amount;

¥



4. Print Statement

public class PrintStatement {
public static int Changed Amount;
public static int Exchanged_Amount;

veid Get_Answer()
i
String answer=null;
Scanner s=new Scanner(System.in);
System.out.println("would yout print the reciept? press Y/N");
answer=s_nextlLine();
if(answer.equals("Y"))
1

¥

else

{

Print_Statement(Changed_Amount,Exchanged_Amount);

System.out.println("proecdure complete");

s.close();

3

void Print_Statement(int changed_Amount, int Exchanged_amount)
{
int g_code;
Payback payback=new Payback();
g_code=payback.get_Gift_code();
System.eut.println("Changed_Amount="+changed_Amount);
System.out.println("Exchanged_Amount="+Exchanged_amount);
System.out.println("Gift_code="+g_code);

void set_Amount(int changed Amount, int exchanged_amount)

{

5. Account

public class Account extends Bank{
private static int Account;
public static int Password;
public static int Total_Amount;
public static int Limit_Amount;
public static int Use frequency;

public int account(){//loadZ TSilA HEH IHLX MZH0| DHEY LL0] O OH
this.Account=info[8];//controllerdt HOER Z2HFT HIM 014 FHLH
return this.Account;

¥

public int password(){
this.Passward=info[1];
return this.Password;

}

public int remains(){

)
public int frequency(){

this.Use freguency=infol[4];



6. Bank

public class Bank {
private static File file;
private static String Bank_name;
public static int info[] = {0,0,8,8,8};
void Find info(int Account) throws IOException

i
if (Account<2000088Account>10008)/ /H T HHS2 D1ZH LT OSHED 518 25
{
Bank_name="Shin han.txt";
3
else if(Account<3000888Account>20008)
{
Bank_name="kuk min.txt";
1
else if(Account<400008&&Account>360000)
{
Bank_name="T1BK.txt";
1
this.file=new File(Bank name);
FileReader fReader=new FileReader(file);
BufferedReader breader=new BufferedReader(fReader);
String str=null;//0IY B2S YLD T Ha
int i=06;
int i=8;

while((str=breader.readlLine())!=null)
{
int Id=Integer.parseInt(str);//I2HM FHIE strings int2 B MI|HD FHH
if(Id==Account)//@=> account number,l=>password,2=>Remains,3=>Limit,4=>Frequency
{ J/TEE F2DM 2= ATE #F2U JNSH B2 AT #HE 3HE
while(i!=4)
1

Id=Integer.parseInt(str);

info[i]=1d;

i++;
str=breader.readlLine();
¥

¥

1
fReader.close();

breader.close();



void update Account(int Account_id, int Changed Amount,int Use frequency) throws IOException

{

String dummy="";
BufferedReader br=new BufferedReader(new InputStreamReader(new FileInputStream(file)));
String line;
this_info[2]=Changed_Amount;
this_info[4]=Use_frequency;
while((line=br.readline())!=null)
{

dummy+=(line+"\r\n");

int Id=Integer.parseInt(line);

if(Id==Account_id)

{

for(int 1=0;i<5;1i++)

{
¥

String deldata=br.readlLine();

¥

FileWriter fw=new FileWriter(Bank name);
for(int i=1;i<5;i++)

{

1
fw.write(dummy);

fuw.close();
br.close();

dummy+=(Integer.toString(info[i])+"\r\n");

7. Payback

A.  Check Frequency

import java.util.Scanner;
public class Payback {
private static int Gift_code;

int check_Frequency(int frequency)

1

if(frequency>=188&frequency<2e)
1

return 1;
¥
else if(frequency>=28&&frequency<3e)
i

return 2;

¥
else if(frequency>=38&&frequency<48)

{

return 3;
}
else
{

return -1;
}



B. Check Payback

void Check_Payback(int frequency)

1
int opticn=8;
if(frequency>=18)
option=check_Frequency(frequency);
switch{option)
case -1:
System.out.println("payback not available");
case 1:
Choose_Gift_code(1);break;
case 2:
Choose_Gift_code(2);break;
case 3:
Choose_Gift_code(3);break;
}
¥
} -

C. Choose Gift Code

void Choose_Gift_code(int option)

{
int choice=8;
Scanner s= new Scanner(System.in);
System.out.println("choose one you want te get”);
if{option==1)

System.out.println("1= cofee 2= beverage");
choice=s.nextInt();
switch(choice)

{
case 1:
this.Gift_code=11; break;
case 2:
this.Gift_code=12; break;
default:
System.out.println("invalid choice choose again”);
}
}
else if(option==2)
{
System.out.println("l=piece cake 2=piece pizza");
choice=s.nextInt();
switch(choice)
case 1:
this.Gift_code=21; break;
case 2:
this.Gift_code=22; break;
default:
System.out.println("invalid choice choose again”);
h
else if(option==3)
{
System.out.println("l=rice packet 2=5888won");
choice=s.nextInt();
switch(choice)
case 1:
this.Gift_code=31; break;
case 2:
this.Gift_code=32; break;
default:
System.out.println("invalid choice choose again®);
h
}



8. Deposit

public class Deposit {
private static int Amount;

void get_Amount(int amount)

{
this.Amount=amount;
1
int send_Amount(int amount)
{
return this.Amount;
1

9. Check Remain

public class CheckRemain {
private static int Remain;
void show_Amount(int amount)

{
Check_TotalAmount (amount);
b
void Check_TotalAmount(int amount)
{
this.Remgin=amount;
¥
void Print_Total Amount()
{
System.out.println("your remain money id: "+Remain);
¥

10. Commission

'import java.text.SimpleDateFormat;[]
public class Commission {
private static int Current_Time;
public static int Commission;
public static int Total Amount;

void get Commission(int amount){
check_Currenttime();
if(Current_Time<22)

{
Commission=58;
¥
else
{
Commission=188;
¥
count_commission(amount);

}
veid check_Currenttime(){
Date date=new Date();
SimpleDateFormat el=new SimpleDateFormat("Ft
String time=el.format(date);
Current_Time=Integer.parseInt(time);
¥
void count_commission(int amount){
Total_Amount=amount+Commission;
¥
int get TotalAmount(){
return Total_ Amount;

¥



Activity 2061. Unit Testing

1) Check Password/Find Info

Eer [P gu) n| =0
‘Jlrnnﬂﬁm
QfE -

Finished after 0.204 seconds

Runs: 1/ B Errors: 1 B Failures:

'

b [4] ControllerTestjava &2

1 package bin;
2

3% import static org.junit.jupiter.api.Assertions.*;

5 import java.io.IOException;
6
7 import org.junit.jupiter.api.Test;
8

9 class ControllerTest {

Finished after 0.156 seconds

Runs:

1/ B8 Errors:

18 Failures:

1

nk java

[4] BankTestjava 33

1 package bin;
2

30
4
5
[
7
8

@Test

> i) ControllerTest [Runner: JUnit 5

void test() throws IOException{
Controller c=new Controller();
c.get_Account("11111");

16 1
void test2() throws IOException{

Controller c=new Controller();
c.get_Account("11113");

assertEquals(true,c.CheckPassword(1234));

assertEquals(false,c.CheckPassword(5555) );

> E*g BankTest [Runner: JUnit 5] (0.0

import static org.junit.jupiter.api.Assertions.®;

import java.io.IOException;

import org.junit.jupiter.api.Test;

class BankTest {

@Test
void test() throws IOException {
Bank b=new Bank();
assertEquals("Shin han.txt",b.Find_info(11111));

}

void test2() throws IOException {
Bank b=new Bank();
assertEquals("kuk min.txt",b.Find_info(22111));

3) Get Amount

f# Package Exp... [i Project Expl.. |gfu JUnit 52

L Y [ |

va

Finished after 0.164 seconds

Runs: 141

B Errors: 0

B Failures: 0

[3 DepositTestjava 32

7 class DepositTest {

@Test

> E’E DepositTest [Runner: JUnit 5] (0.000 s)

4)

=

8

void test() [
Deposit d=new Deposit();
int amountl=6@;

3# import static org.junit.jupiter.api.Assertions.*;[
6

13 d.set_Amount(amountl);

14 assertEquals(amountl,d.get_Amount());
15

16}

17

Input Amount/Limited Amount

g s ™

4J) Controllerjava

[3] *ControllerTest java 52

& & o & BE|

QR =

-

Finished after 0.118 seconds

Runs: © Errors:

B Failures

> i ControllerTest [Runner:

1 package bin;
2

3= import static org.junit.jupiter.api.Assertions.®; gniched after 0.107 seconds

import java.io.IOException;
import org.junit.jupiter.api.Test;

class ControllerTest {

-
EREN] [ TS I R T R T R
i

iTest

void test() throws IOExceptionf]
Controller c=new Controller();
c.get_Account("11111");

—

assertEquals(5e8, c.input_Amount("588"))

Runs:

B Errors:

B Failu

> Hi ControllerTest [Runner

H

Ol e ava [3) ControllerTestjava &2
1 package b: % Package Exp... [ ProjectExpl_ [JuJunit 52| = 8 4y ] CommissionTestjava 53 [J) Pay
2 n B o = 1 package bin;
35 import static org.junit.jupiter.api.Assertions.*; CoadE| %R ® 2 [
2 Finished after 0.129 seconds N . L . : -
- . . . . 3% import static org.junit.jupiter.api.Assertions.*;[]
5 import java.io.IOException; 6
X Runs: 171 8 Emors: 0 B Failures: 0
Finished after 0.145 seconds 6 7 class CommissionTest {
e T dmport o Junit Jupiter.apd. Tests I
Runs: B Errors: B Failures. 8 98 @Test
I 9 class ControllerTest { > fi CommissionTest [Runner. JUnit 51 (0.000 5) void test() {
1@ Commission c=new Commission();
S B ControllerTest (Runner 1= @Test //Current Time=eh AM : Commission=58
> H ControllerTest (Runner:| 1, void test() throws IOException{ c.get_Commission(560);
13 Controller c=new Controller(); c.get_Totalamount();
14 c.get_Account("11111"); assertEquals(550,c.get_TotalAmount());
15 assertEquals(true,c.input_Password("1234")); }
16 }
17 void test2() {
189 void test2() throws IOException{ Commission c=new Commission();
19 Controller c=new Controller(); //Current Time=oh AM : Commission=58
26 c.get_Account("11114"); c.get_Commission (48);
21 assertequals(false,c.input_Password("1234")); c.get_TotalAmount();
22 } assertEquals(98,c.get_TotalAmount());
23 }
24
25 }

va

[1] controllerTestjava &3

1 package bin;
2

3¢ import static org.junit.jupiter.api.Assertions.®;
a

5 dmport java.io.IOException;
6
7 dmport org.junit.jupiter.api.Test;

res ]
9 class ControllerTest {
10
1e @Test
1z void test() throws IOException{
13 Controller c=new Controller(};
14 c.get_Account("111117);
1s c.SetInput_Amount(500);
16 //"11111" limited amount=5@
17 assertEquals(false,c.Limit_Amount());
18
19 void test2() throws IOException{
20 Controller c=new Controller(};
21 c.get_Account("111117);
22 c.SetInput_Amount(4@);
23 //"11111" limited amount=5@
24 assertEquals(true,c.Limit_Amount());
25 by
26 }



5) Check Frequency/ Get Answer

6) Get Amount

gil B2 =0

] Sendjava

[J] *SendTestjava i1

£i] PrintStatementTest (Runner: JUnit

gt 2 = By

t.jupiter.apt.Assertions.”;

J) Printstatement java

17) Withdrav.java

[) “WithdrawTestjava 52

o® &1 B8 1 package bin; ENsE-IE e - + package bin;
P - % import static org.junit.jupiter.apl.Assertions, =[] TENedafter 0125 seconds 3 inport static org.junit. jupiter.ap.Assertions. ™[]
N Runs: 171 o Erers: 0 B Failures: 0 &
7 class SendTest { B e o Comtasionaso
Finished after 0.177 seconds a @Test
@Test il WithdrawTest [Runner: JUnit 5] (0.000 3} void test() {
Runs: 1/ B Errors: 1 B Failures: 1 void test() { Withdraw w-ne Withiran();
send senew Send); I
tik] SendTest [Runner: JUnit 5] (0.C Egéég:;g’ Commission=se Wm\u:i;ig\- f‘:new Withdraw();
assertEqual (658, s.get_Amount(num)); int amount2=3000;
} ii , assertEquals(3850,w.get_Amount(amount2));
} Zf }
Activity 2063. System Testing
Num Testd = TestL & Use Case | Func| P/F
1-1 Input Account ID AZHS E UL Find Info R1.1 P
1-2 Load Info UHE AXHZO| SHEHE[= Find Info R1.1 P
HEE A0} Controllerd|
HIfetct
2-1 Input Password HYHSE Q&stict Check R1.2 P
Password
2-2 Check Password HIZ2HZ 7t Se=X] 2QIsto) Check R1.2 P
Password
3-1 Get Amount e Hejl+=E H=rt Count R1.4 P
Commission
3-2 Get MEE =z g3 &2 Count R1.4 P
Total(total_amount) Hefjd=2 ol ZF AHef | Commission
Saao] gAHEC
3-3 Get Commission =25 AMEY| ® E/E Count R1.4 P
FHZ 2oL2Ct Commission
3-3 Limited Amount Hefsiop g H=Tp S Lo Limited R1.3 P
U=A| <ot Amount
4-1 Get Answer Gd+T EHOANE Y=L} Print R3.1 P
Statement




4-2 Print Statement LHE oAto| 2t FxF Print R3.1 P
87|52 YL Statement
5-1 Check Payback HYz+=E =25t =S Payback R3.2 P
S QIX| EHHSICE
5-2 Check Frequency Aztel AHE=I+E Z3otrt Payback R3.2 3
Activity 2066. Testing Traceability Analysis
Use Case . Opera'iq." Methods Class Unit Test
in Sequence Diagrams
1. Find Info 1. Get Account > Get Accountlaccount_id: int): void Input Account 1D
2. Check Password 2. Category ¥l Get Receiver_Accountlaccount id: int): void 1 Load Info
3. Limited Amount 3. Input Password AR » Input Password(password: int): void Input Password
4. Count Commission 4. Get Receiver Account N R > Check Password(password: int): boolean Controller Check Password
5. Send 5. Input Amount O Input Amount(amount: int): void ! Get Amount
6. Withdraw 6. Print Remain Amount N “ Check Limit(amount: int): Boolean I Get Total(total_amount)
7. Deposit 7. Get Answer \ Categoruicategony: Strinal: void Limited Amount
8. Check Remain = Find Infolaccount_id : int): void Get Answer
9.Print Statement | Load Infol): void Print Statement
10. Pauback Call Funcicategory: Strina): void Bank Check Pauback
Make Funcicategory: Stringl: void Choose Gift Code
Update Account(User_id: int,Ch_amount: intivoid
Count € int: int
Get Ci ission(amount: int): void
Check Current Timel: int
Get Total(total_amount)
Check Payback(frequency: int): veid
Check Frequencu(frequency: int): Boolean
Get Gift Codel(G_code: int): void Payback
Add Gift CodelG_code: int): void
\ Choose Gift Coded): void
'y Get Answerlanswer: Stringl: Baolean /
p Print Statement(: void
Send Amountiamount: int): int Send/Withdraw
Show Amount(): void
Check Total Amount(): int Check Remain
Print Total Amountitotal_amount: int): void




